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1. 'Ω = {1, 2, 3, 4}, F
�âΩ�Xb�/Ýσ−�, P ({ω}) = 1/4, ∀ω ∈ Ω��X(ω) =

ω, Y (ω) = 2ω��X�X + Y�5µ�

2. 'Ω
×�óÝP§/)��F
×�âΩ�Xbb§�/, CÍõ/�/
)�3Fî�LÐóP , P (A) = 0T1, µA
b§TP§����J

(i)F
×�;

(ii)Pbb§Ý�P, ¬P�óÝ�P�

3. }ñ27V×2ÑÝ{�Kg, �Aij�ÏiCÏjgÿÕ8!Fó�¯���J
¯�{Aij, 1 ≤ i < j ≤ K}
NE}ñ, ¬�8!}ñ�

4. 'Ω = {1, 2, 3, 4}, F
�âΩ�Xb�/Ýσ−�, P ({ω}) = 1/4, ∀ω ∈ Ω��X(1) =

X(2) = 0, X(3) = X(4) = 1, Y (1) = Y (3) = 2, Y (2) = Y (4) = 3��®X�Y}
ñÍ?

5. 'X1, X2, · · ·
}ñ, vXibU(0, i)5µ, i ≥ 1��O

(i)P (Xn < Xn−1 < · · · < X2 < X1);

(ii)P (X1 < X2 < X3)�

6. 'X, Y
Þ}ñÝr.v.’s, vp.d.f.’s5½


fX(x) =
1

π
√

1− x2
, |x| < 1,

fY (y) =
y

σ2
e−y2/(2σ2), y > 0�

�JZ = XYbN (0, σ2)5µ�

7. 'X,Y
Þ}ñÝΓ(p, q)5µr.v.’s, �Z = X/Y�

(i)�OZ�p.d.f.�

(ii)�ãp.d.f.�J1/Z
d
= Z�

(iii)'X, Y��!5µ
E(λ), �Oh`Z�p.d.f.�


